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) x y ¥ Sz
3. Simplify ~— + — — , and find the value when y= —.
. ety x-y 2P 4

4. Solve the equations:—-

ab 1
(4)—=—=lbc+d
z

(B) f" (a:-3)==—y-§ +3
{ =2
13 (y-5)==10 - — f
L 3 )

5. 4 starts upon a walk at the rate of 4 miles an hour, and 15 minutes
after, B starts at the rate of 43 miles an hour. When and where will he
overtake .4?

GREEK.
Time allowed, 1} hour.
Eraminerysssese soee sasasnsvcansess casesess Ho AsPINwaLL Howg, LL.D.

Nore.—Candidates may choose in this Paper, between Xenophon and
Homer.

X BNOPHON.-
1. Tranpslate, without unnceessary change of construction :—

“NSezd raiva)? iog, & "Opdrra, 67w & ¢ 6¢ 1dikgea;” "Amenpivaro, bre of., Tdza
& ¢ Kipog ipdra, * Otxoiv iGrepor, O¢ aivde 60 0070} tic, oldiv i iuot adiaip-
f1op awocrae eic Micol¢ Kakds Emoiste Ty Euip xopav, o 7t {8éves? "Eop o T0phveag,
“ Otxoin) £y 6 Kipog, * 6367 ab &ywg i ceavrol divauwy, €290y &1 7iv T
P Aprémbos Supby ueraperew € oot idneda Kai weicac ful wara wazw {dwkde uot
Kal 703t map® fpoi 7 Kai vaid®’ dporéyee 6 "Opirergs « Ti aiv)? fon o Kipog,
 adpSeic =" Euol viv 70 Tpivoy Emidodetor pot gavepds jEyovac ¥ Eixdyrer &
<ot '0plvrov, b7t oidiv adinydels, 7, r,pu'l;aw 6 Kipog avops 4 0puatnytic oty wept
fue adior yeagcda;” “CH yap am;m » Foy &0povrre. JEX Toltov mdlay
npbTneer & K![mr, YO Ere by av jvomn T fue aJt/QL we7éutng, Euoi OF oitor Kal
=676g 7 0 82 amenpivaro re, 0¥ £t yevoipyy, & Kipe, ol 3 av wove e feSau,

2, Parse Eixcrreg 82 voi "0pérvor, ot avdiv a

nétic, 5pbrrcev & Kipor atvén,
3. Decline bsree and dirvawes ; write out the tenses imoite and édirw.
4. Give Presont, Future, Perfect, and 1st or 2nd Aorist of the verbs to
which belong a=expivars, ézocrds, &y, i2a3ec, 3 ovag,
5. What part of their verbs are the words in the preceding question?



